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1. B7 - Slowmotion 10 5,5 9 6 12 23,5 0 66
2. |Al-NiPe 8 4 8 6 20 19,5 0 65,5
3. |A4d-PapiryA4d 9 4,5 8 9 14 16,5 4 65
4. |A2-Trh s akciemi 9 3,5 6 4 14 22 1,5 60
5. |B1-Roznesem Vas na kopytech 8 2,5 4 4 16 21,5 2,5 58,5
6. |A3-Vanocni citron 3 6 7 4 14 18,5 3 55,5
7. |B2-Vyhrali jsme a vas nazor nas nezajima 10 3 4 4 12 21 1 55
8. |B5 - Krtecci, co ji chrousty s prichuti bananu 8 2 4 4 16 20,5 0 54,5
9. (B3 - Nejdenamatika 7 4,5 5 4 14 14,5 5,5 54,5
10. |B4 - Cerna mamba 6 4,5 5 4 14 18 1,5 53
11. |B6-Budenas5 5 5,5 9 0 12 19 2 52,5
12. |AS5 - Dujink grejt 8 4,5 7 0 12 18 0 49,5
13. |A6 - Snéhulaci 7 4 6 4 8 19,5 0 48,5
14. |A7 - Miislici’ 6 3 8 0 10 18 3 48




